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1 100kN/m%#8 x5 1.00 | 0.00 ~ 0.05 100.73 |3m%E{BZ S -~ — — —| 100kN/m%#8%%| 1.00 [10.77 ~ 10.90 100.73 |3m%E{BZ S -~ — - -
ZzhnLst 1.00| 005 ~ 7.83 100.00 | #nist | 000 ~ 7.83 | 2.30 11.63 zhnLst 1.00 | 5.00 ~ 10.77 100.00 | #nist | 500 ~ 10.90 | 2.30 11.63
9 100kN/m#%E#BZ % — -~ — —|3m%EEZD -~ — — —| 100kN/ Mm% % % — -~ — —|3m%EEZD -~ — — —
zhnLst 1.00] 0.00 ~ 7.72 9898 | N4t | 000 ~ 7.72| 232 11.71 zhnLst 1.00 | 500 ~ 10.66 98.98 | 1Ll | 5.00 ~ 10.66 | 2.32 11.71
3 100kN/m%#8 x5 1.00 | 0.00 ~ 050 107.37 |3m%ERBZ S -~ — — —| 100kN/m%#8%%| 1.00 (1063 ~ 11.99 107.37 |3m%ERBZ S -~ — - -
zhnLst 1.00| 050 ~ 828 100.00 | #hist | 000 ~ 8.28 | 2.26 11.42 zhnLst 1.00 | 500 ~ 10.63 100.00 | Zhust | 500 ~ 11.99 | 2.26 11.42
100kN/m#E#BZ % ~ IMEHEZD ~ 100kN/m%#8 x5 ~ IMEHEZD ~
ZhLs ~ FhLs ~ ZhLsh ~ FhLs ~
100kN/m#&#BZ % ~ IMEHEZD ~ 100kN/m%#8 x5 ~ IMEHEZD ~
ZhLs ~ FhLs ~ ZhLsh ~ FhLs ~
100kN/m#&#BZ % ~ IMEHEZD ~ 100kN/m%#8 x5 ~ IMEHEZD ~
ZhLs ~ FhLs ~ ZhLsh ~ FhLs ~
100kN/m#&E#BZ % ~ IMEHEZD ~ 100kN/m%#8 x5 ~ IMEHEZD ~
ZhLs ~ FhLs ~ ZhLsh ~ FhLs ~
100kN/m#&E#BZ % ~ IMEHEZD ~ 100kN/m%#8 x5 ~ IMEHEZD ~
ZhLs ~ FhLs ~ ZhLs ~ FhLs ~
100kN/m%#BZ % ~ IMEHEZD ~ 100kN/m%#8 x5 ~ IMEHEZD ~
ZhLs ~ FhLs ~ ZhLs ~ FhLs ~
100kN/m%#BZ % ~ IMEHEZD ~ 100kN/m%#8 x5 ~ IMEHEZD ~
ZhLs ~ FhLs ~ ZhLs ~ FhLs ~
100kN/m%#BZ % ~ IMEHEZD ~ 100kN/m%#8 x5 ~ IMEHEZD ~
ZhLsh ~ FhLs ~ ZhLsh ~ FhLs ~
100kN/m%#BZ % ~ IMEHEZD ~ 100kN/m%#8 x5 ~ IMEHEZD ~
ZhLs ~ FhLs ~ ZhLsh ~ FhLs ~
100kN/m#&E#BZ % ~ IMEHEZD ~ 100kN/m%#8 x5 ~ IMEHEZD ~
ZhLs ~ FhLs ~ ZhLs ~ FhLs ~
100kN/m#&#BZ % ~ IMEHEZD ~ 100kN/m#%#8 x5 ~ IMEHEZD ~
ZhLs ~ FhLs ~ ZhLsh ~ FhLs ~
100kN/m#E#BZ % ~ IMEHEZD ~ 100kN/m%#8 x5 ~ IMEHEZD ~
Zh s ~ Fh s ~ ZhLs ~ FhnLs ~
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